HAOHR :2024.3.4 9:15

3H HOHIHRAZ TR

BEfEAEH H :20244E03H03H (H)

JIEA7 SINE K4 7 k| A > |GROSS| HDCP| NET |crossii %
1 UNE s 43 39/  82/10.0 |72.0 | 3
2 Wl s 40 46| 86[14.0 [72.0 | 14
3 Rk ffHE 42 40/ 82/ 9.0 |73.0 | 5
4 | bF 8 44 41]  85[12.0 [73.0 | 9
5 |#% & 37 43 80| 7.0 [73.0 | 1
6 |HTH V% 38 45| 83[10.0 |73.0 | 7
7 = EE 39 420 81| 7.0 |74.0 2
8 |ESH 2 41 42| 83| 8.0 |75.0 | 6
9 =R JHE 40 44 84/ 9.0 [75.0 | 8
10 JEH0 E— 43 39| 82| 6.0 |76.0 | 4
11 AR 25 42 45/ 87[11.0 |76.0 | 16
12 sk BEHI 43 43| 86| 9.0 |77.0 | 12
13 T 46 43| 89]12.0 |77.0 | 18
14 RFF KER 46 46|  92[15.0 |77.0 | 27
15 | B i 42 48/ 90/13.0 |77.0 | 21
16 |ILF #&E 40 50| 90[13.0 [77.0 | 23
17 R B 44 41| 85| 7.0 |78.0 | 10
18 |/l f& 41 44| 85| 7.0 |78.0 | 11
19 IR 5F 41 46| 87/ 9.0 [78.0 | 17
20 JI/APR EH& 46 47| 93[15.0 |78.0 | 32
21 [T B 44 48] 92[14.0 [78.0 | 29
22 | Fuz 43 44| 87| 8.0 |79.0 | 15
23 |tElE Ak 47 45 92[13.0 [79.0 | 26
24 KB fh 42 47 89[10.0 [79.0 | 19
25 | HiT s 47 47 94[15.0 [79.0 | 38
26 b FZ 44 49| 93[14.0 [79.0 | 35
27 )1l = 45 49/ 94115.0 179.0 | 39
28 i A FpE 41 51|  92[13.0 [79.0 | 31
29 HH sal 46 49/ 95/15.0 [80.0 | 41
30 AR Y 45 45/ 90| 9.0 [81.0 | 20
31 [/ B 46 46]  92/11.0 [81.0 | 28
32 kg H 45 51  96[15.0 [81.0 | 43
33 lhp ek 48 43] 91 9.0 [82.0 | 24
34 | ARH iz 42 44| 86| 4.0 |82.0 | 13
35 | WK 46 50/  96(14.0 [82.0 | 42
36 |ZEA B 50 45| 95[12.0 |83.0 | 40
37 RS vk 49 45| 94[/11.0 [83.0 | 37
38 |EilR THK 44 49|  93[10.0 |83.0 | 34
39 [ihh 15 42 50/ 92| 9.0 [83.0 | 30
40 | RH FEIR 45 48/ 93] 9.0 |84.0 | 33
41 [fH B 44 49] 93] 9.0 [84.0 | 36
42 |Fojik HE 46 45| 91] 6.0 [85.0 | 25
43 |BEH E 54 46| 100[15.0 [85.0 | 48
44 | % 48 50|  98[13.0 [85.0 | 45
45 |HEEE Nz 54 46| 100(14.0 |86.0 | 47
46 @ HE 167 46 51|  97[11.0 |86.0 | 44
47 Bk VEE 41 49/ 90| 3.0 |87.0 | 22
48 | MR =] 45 53| 98] 8.0 [90.0 | 46
49 B M= 51 52| 103[11.0 [92.0 | 49
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